CLASS-X –ENGLISH- WORK SHEET    LITERATURE READER( MCQ)
Read the extracts given below and answer the questions that follow by choosing the most appropriate alternative from those given:

1. The winged seeds, where they lie cold and low,

            Each like a corpse within its grave, until 
            Thine azure sister of the spring shall blow…… ( 3 m  )
a) Who is the azure sister of the Spring ?

1. cyclone             2. Autumn season                 3.  Winter                         4. the easterlies

b )  Where do “they” lie cold and low ?
       1.  in the Mediterranean    2. In the Atlantic   3.in the dark wintry bed           4. In their house 
c )    What is the figure of speech used in the second line ?

1. Simile             2. Metaphor                      3 .Onomatopoeia                                4. Personification

2. Angels of rain and lightning :there are spread

         On the blue surface of thine  aery surge,

        Like the bright hair uplifted from the head 

       Of some fierce Maenad……………………( 3 m  )
a) --------------- are the angels of rain and lightning.

1. The Maenads           2 .The   clouds                   3.The  decaying leaves                     

       4. The winged seeds
b)..blue surface of thine aery surge means the ……..
1. sky            2.dreaming earth                                 3. oceans                          4.forests

C )Maenads are the female followers of …….

1. Bacchus                2 .the Easterlies                    3.Angels                                 4.W est wind 

3. All overgrown with azure moss and flowers 
        So sweet ,that sense faints picturing them! ( 3 m  )
a) azure moss and flowers cover--------

1.the whole landscape 2. remnants of old towers and palaces    3.forests       4.the poet’s house 

b )Why does sense faint picturing them ?
1. because their beauty  overpowers senses 2.senses lack artistic skill  3. senses are unconscious. 4. the ocean casts a spell on them 
c ) The things ‘all overgrown with azure moss and flowers ‘ are lying sunken in the --------

1. Atlantic                   2. Pacific                        3. Mediterranean                                 4. Dead sea 
4. Oh, lift me as a wave, a leaf, a cloud !

    I fall upon the thorns of life ! I bleed ! ( 3 m  )
a) These  lines portray the poet as an…….
1. escapist 2. optimist 3.atheist 4. idealist

b )   What assistance does the poet seek from the wind ?

1.financial assistance     2.a job  3.to uplift him spiritually 4. To take him away from his place
C )   thorns of life means ……..

1. misfortunes of life  2.sickness 3. natural calamities 4.wounds 

5. Drive  my dead thoughts over the universe 
      Like withered leaves to quicken a new birth ! ( 3 m  )
a) The poet describes his thoughts as dead because --------

   1. his thoughts have not seen light  2. His thoughts are driven away by the wind 3. He misplaced all his thoughts 4.his thoughts are  buried 

b) The withered leaves are driven away by the West wind so that-------

    1. Winter arrives  quickly   2.new leaves appear on trees   3. Autumn lasts longer  

              4.the trees look beautiful

C )Name the poet-
1.P.B. Shelley            2. Nissim Ezekiel                3. Nicholas Fisk                           4. Dash Benhur

6. That is your fault, Ebenezer, as it was mine. ( 3 m  )
  a) What was the speaker’s fault ?

  1. forging chains 2. abusing people 3. thinking only of money 4.meeting ghosts

 b) How was the speaker associated with the listener ?
  1. business partner                    2. nephew                 3. employee                        4. Client 
C )When did the speaker die ?

1. on  a Christmas day  2.on the eve of Christmas 3.on his wedding day 4. on the Thanks giving day 

7. And I’m the luckiest man in the world, having such a fine family. ( 3 m  )
a ) Who or what makes him feel so ? 

1. his employer              2. his wife                     3. his family                                  4. His salary 
b) How much does this ’luckiest man’ earn a week ?

1.10 dollars              2. 10 shillings                         3. 20 shillings                               4. 15 shillings 

c)Who is his employer ?

1.  Robert  Cratchit            2. Ebenezer Scrooge               3. Fred                       4. Jacob Marley
8. I’d  give him a piece of mind to feast upon, and I hope he’d have a good appetite for it.(3m) 
a)What is the mood of the speaker ?     
1.angry   and unhappy   2. extremely happy     3.excited                 4. impatient 

b ) Mrs. Cratchit passes such a remark because she feels that Scrooge is ----

1. very  benevolent    2. unfeeling and  stingy             3. generous                   4. very  hungry 
c ) Bob  Cratchit  is very ------- to his employer.
1. respectful     2. rude    3. indifferent             4.domineering 
9. Let me see some tenderness connected with death. ( 3 m  )
a)  Scrooge could see  ‘some tenderness connected with death ‘at -------------

1. Cratchit’s  home       2. his own home       3. Fred’s home            4. Belle’s home 

b) The  fearful sight of the -------------- ---------- made him speak so.

1. three ghosts  2. Ghost of Marley  3. unclaimed dead body 4. gaveyard  and the tombstone
c) Who is the listener ?

1. The first ghost       2. The second ghost        3. The third ghost                 4. The  gentleman 

Prepared by    Mrs. Girija Jayasankar 
